Full Page View Section  Page Page Section

@ Goto classzone.com) Table of Contents ) %} %) Lg) ﬁ) ﬂ) Page 1 of 1 @ z»)

Chapter Standardized Test

\Icst ﬂp Avoid spending too much time on one question. Skip questions that are too
BB B difficult for you, and spend no more than a few minutes on each question.

1. Which of the following numbersis a solution of the inequality 9 — x = 2?
@7 8 ©9 @ 10

2. What isthe value of the expression [(5 + 9) = X] + 6 whenx = 3?
@ 5 15 © 18 @ 21

3. Which variable expression is atranglation of “5 times the difference of 8 and
anumber X" ?

@ 5(8 — X) @Xx-58 (@©58-x (@5- 8

4. The number of students on the football team is 2 more than 3 times the number
of students on the basketball team. If the basketball team has'y students, write a
variable expression for the number of students on the football team.

@ 3y @ 3y—2 ©2+3y @ 2y +3

5. Which of the following represent a function?
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@ All @ landll @ landlll @ Il and Il @ Noneof these

Use the graph to compare the amount of chocolate

. . Annual Consumption of Chocolate
eaten in different countries.

6. About how many more pounds of chocolate per person Switzerland
is consumed in Switzerland than in the United States? Austria
@ 7 6 © 9 @ 3 Germany

Norway

United States

7. About how many more pounds of chocolate per person
is consumed in Norway than in the United States? 0 10 12 14 16 18 20 22

Pounds per person
@ 11 5.7 © 6.8 @ 7.8

n Chapter 1 Connections to Algebra

» Source: Chocolate Manufacturers Association
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